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M M HAmEE W = 13.0Kg
hG EINETS hG= 40.0cm
RILER/RY (58i) LA= 401 cm
L G FH ] v (§38) LB= 385cm
[ ARILEDD LGA= 20.1 cm
ELFETOIER LGB= 19.3cm
RILMFAX M10
. LGB \}/ WeEY RILNEL n= 4 K
LB
BEERTRIZESE. hEFRHBICHTIHERLZR
RETRIZEEE KS 1.0 15 2.0
Hhig (% 5k z 1.0 1.0 1.0
REtHEKEEE KH=KSxZ 1.0 15 2.0
RETRKEHE S FH=KHxWx9.8| 1274 N 191.1 N 254.8 N
REtHSEME RN FV=FH/2 63.7 N 95.6 N 127.4 N
7oh—iRILEBliR B RILR R/ 558 AI(RbA)
R FH xhG + (W x9.8+ FV)x(L-LG) 111.3 N 151.0 N 190.8 N
L x nt RILE R/ KID{I(RbB)
*L:LAXIZLB, LG:LGAE1=IZLGB. nt=n/2 114.0 N 155.0 N 196.1 N
Toh—HRIVME AR N E
c=rH AL 57.9 Nem?|  86.9 Niem?|  115.8 N/cm?
n-A A=055 cm?
B7oh—OEMHRSIREEICHTIREE
HEBIEBHLEETH—RILM(EHRLH)
o 33.3 f& 24.5 f& 19.4 f&
EEAEFAEIRTrE: 3.8 kN
ERILFOEMRHEBREAWMIEHEICHTIREE
RJLE(SS400)
174.4 & 116.3 & 87.2 &
EEA R AW SE 101 kN/om®
AT L ARV (A2-50)
7 157.5 f& 105.0 f& 787 f&
SEEISE R AW S EE:9.12 kN/cm?
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